Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18EE34
Time: 3 hrs
1 Explain the working of series chpper to clip the input smusmdal signal:

(i) above Vg (i1) below "Vk . Draw the mpgtw;and output waveforms and transfer
characteristic. Neglect, cu in -voltage V.. Assume chppmg action in positive half cycle of
input signal. ) w’ (06 Marks)
Define operating pomt in a transistor and explain its 51gn1ﬁcance (04 Marks)
Explain the dc:ana sis of emitter stabilized.bias circuit, for this circuit if R, = 1 kQ,
Rp =220 kQ, Rg = 1 kQ, calculate Ig, I, I““Vwcg and Vg . Assume B = 200. (10 Marks)
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- For coIlector to base bias circuit obtaln expressions for stablhty factors Sico , Suse and Sp

" (10 Marks)
Des1gn a voltage divider bias 01rcu1t 1f Vee =12V, Vce = ¢ V, Ve=1V, Ic— 1 mA, Sico= 20,
B = 100. Draw the circuit h 4 A (10 Marks)

CE and CC modes=. 1o Marks)
For a single stag@*‘i@ﬁ amplifier, R, = hkQs R, = 50 kQ, Ri= 2kQ, R =2 kQ, Ry =2 kQ,
he =50, hoe = 28“‘}1A/V hi=1.1 kaandh =2. 5><10'4 Calculate Ay, R, Ai, Ass , Avs and
Ro. Draw the circuit diagram. Use approx1mate hybr1d“model Across RE, bypass capacitor

(10 Marks)

Yy “Module-3

For the Darhngton connectlon ‘obtain expression for Ay, , Rip for II stage and Ay , Ry for
I stage. (10 Marks)

Consider a 2 stage RC d@“upled amplifier for the I stage Rg =1 kQ, R¢=15 kQ , Rg, = 100 Q
R, = 200 kQ , R, =.20 kQ. For II stage R, = 4 kQ, Rg, = 330 Q, biasing resistors
R; = 47 kQ, R4 —w4 7 kQ. Bypass capacitor is connected across Rg, and Rg,. Assume
hie = 12 kQ, he = 50, hoe = 25 PA/V, hee = 2.5%107*, Determine the overall Ay , Avs , Ro/
and Ry,'. Draw the circuit diagram. (10 Marks)
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transresistance amplifier using Thevenin’ s or N"%;ton s equlvalent circui (10 Marks)

For voltage shunt feedback amplifier topol »obtain expressions for Rirand R .
? (10 Marks)

Obtain an expression for 2" harmonm?dmtortmn in a power amghﬁer using 3-point method.
(10 Marks)

A class-B push pull amphﬁer Supphes power to a reswtw@fload of 12 Q. The tums ratio of
output transformer is 3:1.and’n = 78.5%. Determine tl&&mammum power output, maximum
power dissipation in ea&h’* sistor maximum basg and collector current in each transistor.

Assume Ve = 20 V andhg = 25. ) (10 Marks)
Lo
OR .
Obtain expression for fo and hg in Colpitt’s; I +oscillator. (10 Marks)
Compare % hase shift and Wein bridge oscillator. (05 Marks)
Calculatethé*values of R and C in. a RC phase shift oscﬂlator if fo = 500 Hz. Draw the
Cll'CUlt‘él . Assume C=0.1 pE, = (05 Marks)

~Module-5
Explain construction, operation ‘and charactenst10§h@f enh‘ﬁncement MOSFET (10 Marks)
Compare D-MOSFET %ég“E%OSFET (05 Marks)

Define transconductance “gn” in FET and (05 Marks)

Consider voltage divider bias circuit:of JFET. If Rp &1 2 kQ , Rs = 2 kQ, R; = 20 kQ,
2 = 10 Kﬂ VDD = 12V IDSS %@1@, mA VP = - 4Y ca%ulate ID . VGS 3 VG 5 VDS and Vs
Draw me Circuit diagram. ,,% (10 Marks)
Consmlé%jFET in fixed bids m@@e Derive expre&swns for Ziyn , Zop and Ay . If Rg =1 MQ,

Ig= 50kQ, gn=2m’, C&%ﬁtﬁ Z;, Ay and Z%?%Draw the circuit diagram Rp = 5.1 kQ.
(10 Marks)



